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Tema 1 Ilpuuactus. HeszaBucumblii mpuvacTHbIii 000poT. XpaHeHue uHpopmanmu. LleHTpambHOE
IIPOLIECCOPHOE YCTPOICTBO.

3anomuHaronye ycrpoiicrsa. Pabora nuupposoro kommnerorepa. [Tamsats. LlenTpansHoe nporeccopHoe
ycrpoiicTBo. bpuranckuii o0pa3 »xusHu. ['pammarmka: Ilpuuactus I, 1, Perfect Participle u ux
¢byHKIMU B mpenyoxeHud. He3aBHUCHMBIA NPUYACTHBIA 00OPOT, CIOKHOE IMOJJIEkKAIIee W CI0KHOE
nononHenue ¢ npudactueM. Cyddukcsl -age, -ate, I[pedukc en-.

Ha npaktuueckux 3aHATHAX KOMOMHMpYeTcsl paboTa no yuyeOHuky OpJIOBCKOM M3 CIIMCKAa OCHOBHOM

mutepatypsl (Lesson 7), Yue6Horo mocoOust i CTyaeHTOB 2-10 Kypca (Lesson 4), a Tak xe ydeOHUKa
Panosens B.A. «OcHoBbI KoMIIbIOTEepHON TpamoTHOCTH» (UNit 7-8). YacTh ynpaskHEHUIl BBIOIHSACTCS
BMECTE C IperojaBaTelieM, 4YacTh BXOJIUT B CaMOCTOSTENbHYIO pabory cryaeHTa. Kpome TOro
MPOBOJIUTCS pabota Mo cTpaHoBemueckoir  Teme «British way of life» ¢ wucnonszoBanuem
BUJICOMATEPHAJIOB.
The Participle

There are two types of the Participle:

Participle I (Present Participle) V-ing — nepeBoauTcst Ha pyCCKUit SA3bIK ICHCTBUTEIBHBIM
3aJI0rOM IPUYACTHUS WIIH JICCHPUIACTHS;

Participle Il (Past Participle) V+ed wiu V3 — nepeBoanuTCs cTpagaTeabHbIM 3JI0TOM TPUYACTHS
WK JICCTIPHYACTHSL.

Forms of the Participle |

Active Passive
Indefinite Writing Being written
Perfect Having written Having been written

®opwmsl Indefinite BeipakaroT ASHCTBHS OJJHOBPEMEHHBIE C JICHCTBUSMHE, BBIPAKCHHBIMH
ckazyembiM.Dopmel Perfect — neiicTBre COBEpIIMIOCH PaHbIIIE, YeM JICHCTBUE, BRIPAKCHHOE
CKa3yeMbIM.

She stood there looking at me. — Ona crosuta TaMm, TS Ha MEHS.

Having read the paper, he left home. — IIpounTag rasery, oH BBIIIEN U3 TOMA.
Forms of the Participle 11

Active Passive

. written

[TpuuacTtue — 310 HenmuyHas popma riarosya, KOTopast 06JagaeT CBOMCTBaAMHU Ijaroiia,
npuiaraTeabHoro M Hapeuus. Kak npunaratensHOe MOXKET ObITh ONpeeIeHUEeM WM UMEHHOM 4acThio
CKa3yeMmoro.

a broken cup a cup was broken

Kak Hapeune MoxkeT ObITh 0OCTOSTETHLCTBOM.

Reading the text he wrote out new words. — Uuras TEKCT, OH BBINKUCHIBAI HOBBIE CIIOBA.
[Tono6HO rHarony MoKeT UMETh BpEMEHHBIE U 3aJI0TOBbIE (POPMBI.

Functions and translation

1) Attribute or attributive phrase (onpenencuue)
The sleeping child is my niece. — Crsiinuii peOeHOK — MOsI TUIEMSTHHHIIA.
The boy playing in the yard is my nephew. — Masbuuk, urparomuuii Bo 1BOpe, MO IJICMSIHHUK.
She answered through the locked door. — Ona oTBeuana uepes 3anepTyro IBEpb.
Letters written by my sister usually are difficult to read. — ITucsma, HanCaHHBIE MOEH CECTPOIA,
OOBIYHO TPYHO YUTATh.



2) Predicative (gacTth ckazyemoro)
The story is exciting. — DToT pacckas BOJHYIOIIHIA.
Her words were terrifying. — E€ ciioBa Obutn yKacaroliumH.
Participle Il after to look, to find, to seem, to be, to remain.
He seemed surprised. — OH ka3aJicsi yAUBICHHBIM.
He was surprised. — Ou ObuT yIuBIIEH.
3) Adverbial modifier of: o6¢crosTenscTBO
a) of time: Seeing him on the other side of the street | called him. — Buas ero na apyroii cropose
YJIuIbI, g IIO3BaJI €ro.
While reading the book | came across a lot of new words.
Having come home he turned on the TV. — IIpuas 10MOii, OH BKJIFOYHI TEIEBU30D.
When questioned she never answered. — Korna ee cripamuBaiy, OHa HUKOT/Ia HE OTBeYaa.
b) reason (cause) /mpuunna/
Being ill I couldn’t go to the institute. — Byay4u OosieH, s He MOT MTONTH B UHCTUTYT.
c) comparison /cpasucuue/ (as if, as though)
She sat as if thinking.
He sat as though lost in thoughts.
d) condition /ycnosue/
Moving at such a speed we shan’t be able to be there in time. — J[Burasice ¢ Takoli CKOPOCTBIO, MBI HE
CMOXEM 6I)ITI) TaM BO BpEMH.
If sent immediately the letter will be received in time.
e) manner and attendant circumstances /o6pa3a AeiCTBHUS U COMYTCTBYIOLIUX 00CTOSATEIbCTB/
He came in jumping. — OH BolIex BOPUIIPBIKKY.
She wrote a letter, thanking him for his help.
He passed unnoticed.
) Concession /yctynku/ (though).
Her spirit, though crushed, was not broken. — E€ ayx, XoTb 1 ObUT 110/1aBJIEH, HE OBLUT CIIOMJICH.
4) Parentheses /BBoanbie ciioBa/
Generally speaking, strictly speaking, roughly speaking, taking into account,... .
Frankly speaking, | haven’t read this book yet. — OTkpoBeHHO rOBOpS, 5 €IIie HEe MPOYEIT 3Ty KHUTY.
Complex Object with the Participle /cio:xnoe gononnenne/
CocTout U3 AByX 2JIEMEHTOB:

1) cymiecTBUTENBHOE UITH MECTOMMEHHE
2) mnpuuacrtue | wm 1.
1 2
| heard the child crying. — 4 cabimran, 9ro peOEHOK TUTaveT.
1) Mocne rnaronos to want, to wish, to desire
| want the work done.
2) nociie riaarojos to have, to get
I have my hair cut. — Sl moctpurcs B mapuKMaxepcKoi.
I have my hair waved. — S 3aBuach B mapukMaxepcKoi.
| shall get (have) a new dress made to order. — I combio cebe HOBoOE TwIaThe (Y HOPTHOTO).
I have cut my hair.— S moctpur Bosocs! (cam).
3) moce rnaronos to smell, to start, to look, to catch, to imagine, to leave (with the Participle I)
I smell the dinner cooking. — 51 4yBCcTBY10, YTO TOTOBHUTCS 00E]I.
He started the machine working. — On 3amyctin Mammny



4) nocse rmarosios to see, to hear, to feel, to find
| hear my wife coming. — 51 cibimny, 4T0 UAET MOS JKEHA.
5) moce riarosos to understand, to consider
| consider myself engaged to Ben. — {1 cuutaro, uro momossieHa ¢ benowm.
Complex Subject with the Participle.
Kax u Complex object CocTouT u3 AByX 37eMeHTOB. MICIoyIb3yeTcsl TOIBKO C TJIarojiaMu
4yBCTBEHHOT0 BoctpusaTus (t0 see, to hear) u Participle 1.
1 2
The child was heard crying. — Casiuanu, xax peOGEHOK ILTaKal.

Absolute Participle Construction /He3aBucHMBblii NPUYACTHBI 000pOT/.
O060pOTHI, B KOTOPBIX IPUYACTHE BHIPAKAET JIEHCTBHE, HE OTHOCSIIEECS K JIUILY (TIPEeIMETY),

0003HAYCHHOMY TOJISKALINM MIPEUIOKEeHUs. B 3TOM ciryyae neiicTBre, BRIpaXEHHOE TPHYACTHEM

OTHOCHTCS K JIUITY (MJIH TIpeIMETY), 0003HAUEHHOMY CYIIECTBUTEIBHBIM B OOIIEM Majexe Win (pexe)

MCECTOMMCHHNEM B UMCHUTCIIBHOM I1aICXKE.

The student knowing English well, the examination did not last long.— Tak kak cTyJIeHT XOpOIIO 3HAI

aHFHHﬁCKHﬁ, OK3aMCH HEC 3aHAJI MHOT'O BpCMCHHU.

Compare: Knowing English well, the student can translate the text without a dictionary. (Ilpoctoit

MIPUYACTHBIA 000pOT) — XOPOLIO 3HAsI AaHIVIMWCKUM, CTYJJEHT MOKET [IEPEBOUTH TEKCT 0€3 c0Bapsl.
Oco0eHHOCTH TIEpeBOaa

He3agucumutii npuuacmuslii 060pom ecezoa vloesiemcs 3anamoimu!

1. Eciu He3aBUCHUMBIH HpI/I‘{aCTHHﬁ O60pOT Haxo4guTCdad B Ha4daJi€ IMPEIJIOXKCHUA, TO OH
NEpCBOAUTCA MMPUAATOUYHBIM MPCATIOKCHUCM U BBOAUTCA CIIOBAMU: makK KAk, Koeda; nocijie moeo Kak,
NOCKOJIbKY, 6 81/[0)/ moeo, 4mo, ecju.

e My sister having lost the key, we couldn’t enter the house.— Tak kak Mosi cecTpa morepsiia
KJIF0O4, MBI HEC CMOT'JIN BOWTH B JOM.

2. Ecim He3aBHCHUMBIN HpI/I‘{aCTHHﬁ O60pOT HaxoOgUuTCsa BO BTOpOI>'I JaCTHu IPEAIOKCHUA, OH
NEpEeBOAUTCA CAMOCTOATCIIBHBIM MIPCAJIOKCHUEM U BBOAUTCA COO3aMHU A, U, npUHEM.

e That plant produces large quantities of pig-iron, most of the pig-iron being turned into steel.
— Orot 3aBOJ IIPOU3BOAUT OOJIBIIIOE KOJHUYECTBO 4yTryHa, HOpHYCM OoibIlag dYacThb YyryHa
nepepa6aTLIBaeTc;1 B CTallb.

3. I/IHOTIla BCTPCHAIOTCS HC3aBUCUMBIC TPUYACTHBIC O60pOTBI, Ha4YMWHAIOMmMUeECs C with.
HepeBOI[HTCH OHMH TakK XK€.

e With America and Britain spending large sums on rearmament, it is hard to believe that
there can be any serious decline in the demand for metals. — Tak kak Amepuka u bpuranus Tparsar
OoubIIne CYMMBLI Ha MEPCBOOPYKCHUC, TPYAHO IMMPEATIOIOKNUTH, YTO MOKECT OBITE CCPBEC3HOC CHUKCHUC
CIipocCa Ha METaJlll.

Exercises:

Ex.1 Translate the following sentences into Russian. Define the functions of the Participles.
1. He heard the voices coming through the open window.

2. Waiting for him | looked through the magazines lying on the table.

3. They remained at home refusing to go anywhere that day.

4. The channel linking the two seas is being built now.

5. The explanation given was not complete.



6. The new materials recommended for bridge construction were described in the article written by our
professor.

7. The results received were of great importance for further work.

8. A balsa tree found in South America is lighter than any other.

9. Having passed all the examinations he left for his native town.

10. Having been shown the way I could find his house easily.

11. Having waited for him for half an hour they went home.

12. Having obtained the necessary results they stopped their experimental work.

13. When studying elements Mendeleyev found that they could be divided into nine groups.

14. When writing a telegram we must use as few words as possible.

15. When burnt, coal produces heat.

16. When reconstructed, the theatre looked more beautiful than before.

17. Being built in a new way modern houses have better facilities.

18. He said he had already translated the article given by the teacher.

19. When translated, his article on chemistry was sent to the International Chemical Congress.

20. Being translated into many foreign languages, Gorky's works were read with great interest all over
the world.

21. Translating the English article into Russian he looked up the unknown words in the dictionary.
22. Having translated the article from the newspaper he showed it to the teacher.

Ex.2 Translate the sentences and define the functions of the Participles.

1. Any vibrating object produces a sound.

2. Electrons, forming an atom, are in motion.

3. Considering the matter he encountered many difficulties.

4. The units used to measure time, space and mass are called fundamental units.

5. Insulated, the wire may be used as a conductor.

6. The pressure removed, the air springs back to its original volume.

Ex.3 Translate the sentences with the Simple Participle constructions and Absolute Participle
constructions.

1. She bringing this material, we shall use it.

2. Technology having reached a high stage of development new methods of work became possible.
3. The engineer was repairing the damaged machine-tool, two workers helping him.

4. The number of scientists conducting similar experiments was increasing.

5. The effect of temperature is being investigated by the author mentioned above.

6. Having investigated the effect of temperature the authors mentioned above came to a definite
conclusion.

7. The article having been translated, he could read some book for pleasure.

Ex.4 Translate the sentences and define the functions of the Participle: a) attribute, b) predicative,
c) adverbial modifier.

a) Participle |
1. A molecule is a compound consisting of two or more atoms.
2. Combining hydrogen with oxygen in the proportion of two atoms of hydrogen and one atom of
oxygen we produce water.
3. When speaking about oxygen it is necessary to say that it is a colourless, odourless gas having
density at standard pressure and temperature of about one seven-hundredth that of water. It is soluble
in water becoming liquid at about 180 °C.



4. While burning different substances combine with oxygen.
5. The assistant was preparing the solution very carefully.
6. The solution is boiling.
7. The boiling solution has neither colour nor odour.
b) Participle 11
1. The solution of the problem required concentrated efforts of many scientists.
2. The data required were analysed in our laboratory.
3. When required, the data will be applied in our practical work.
4. The investigations analysed resulted in an interesting discovery.
5. Heated glass is plastic.
6. When heated, glass can be easily worked.
7. Some heat-resistant types of glasses can be heated until they are red and do not break, if then
placed into ice water.
8. Some new properties of the polymer found during the experiments were quite unexpected.
Ex.5 Translate the sentences with Absolute Participle constructions.
. The sun having risen, they continued their way.
. The professor being ill, the lecture was put off.
. The wool was placed in the warehouse, the cotton being forwarded to the factory.
. Weather permitting, the ship will leave port tomorrow.
. There being a severe storm at sea, the steamer could not leave the port.
. If being Sunday, the library was closed.
. The work finished, we went home.
. The signal given, the train started.
. The weather being fine, they went for a walk.
10. The goods having been unloaded, the workers left the port.
11. Business on the London Metal Exchange was very brisk that day, over one thousand tons of tin
being sold in the afternoon.
12. Agriculture is Costa Rica’s chief activity, mining and manufacturing being little developed.
13. Modern digital computers operating with tremendous speed, it is widely used in science and
engineering.
14. Radio was invented in Russia, its inventor being the Russian scientist A.S. Popov.
15. Then they heard the noise of the plane, its shadow passing over the open glade.
Ex.6 Translate the sentences, paying attention to the Participle and its functions.
. Being very ill, she couldn’t do her work.
. The first rays of the rising sun lit up the top of the hill.
. The tree struck by lightning was all black and leafless.
. Being busy, he postponed the trip.
. Having been shown the wrong direction, the travelers soon lost their way.
. Having descended the mountain they heard a man calling for help.
. Flushed and excited, the boy came running to his mother.
. He stood watching the people passing by.
. While being examined, the boy couldn’t help crying.
10. Strictly speaking, he is not a good student.
EX.7 Translate the sentences, paying attention to the Absolute Participle Construction and its place
in a sentence.
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1. There are different types of engines, all of them representing the means by which it is
possible to utilize the tremendous amount of energy, stored in water, coal, oil, wood and
other fuels.

2. A d. c. motor being installed, the r. p. m. can be controlled automatically.

3. Different molecules have different speeds, the average speed of all molecules remaining the
same as long as the temperature is constant.

4. One scientist after another have tried cooling some gas to absolute zero, their attempts
coming to nothing.

Ex.8 Define the form and the function of the Participle in the sentences. Translate them.

1. Using isotopes in measuring the diffusion of metals we got much more accurate data.

2. Being used in measuring the diffusion of metals isotopes gave much more accurate data.

3. Scientists have found a simple way to produce a laser beam of any colour and frequency desired.

4. Having used a laser beam scientists obtained accurate calculations of Jupiter's temperature -
minus 150°F.

5. Being produced by the laser the narrow intense beam travels great distances without spreading.

6. When sent to the Moon in 1962 an intensive red beam illuminated a section of the Moon only
two miles in diameter.

7. Having reached the surface of the Moon, it returned to the Earth three seconds later, its return
being recorded by sensitive devices.

8. The beam traveled 800,000 km in space, its velocity approaching that light.

O0pasen Texcra 11 padoThI ¢ YCTHON TeMoit
The British Way of Life

Almost every nation has a reputation of some kind. The French are supposed to be merry; the
Germans dull, formal, fond of military uniforms; the Americans boastful, energetic. The English are
reputed to be cold, reserved, rather haughty people who do not shout in the street. They are steady,
easy-going and fond of sport. People in England do not shake hands as much as people do in Europe.

The English themselves like to speak of the "Englishness” of the English and they agree that
there are really some typical English features — egoism, a strong sense of individualism and intolerance
of outsiders, independence and self-confidence, a strong belief in private property and love of comfort.

The English are a nation of stay-at-homes. "The Englishman's home is his castle" is a saying
known all over the world. It is true that English people prefer small houses, built to house one family,
perhaps with a small garden.

The fire is the focus of the English home. What do other nations sit round? The answer is they
don't. They go out to cafes or sit round the cocktail bar. For the English it is the open fire and the
ceremony of English tea. Tea is part of the prose of British life as necessary as potatoes or bread. It
must be made "just like mother makes it", one teaspoonful of tea for each person. It is drunk with or
without sugar but almost always with milk.

The English people often say something about the weather when they begin a conversation. In
fact people talk about weather more in Britain than in most parts of the world. For one thing, the
weather in Britain changes very quickly. One day may be fine and the next day may be wet. You can
never be quite sure what the weather is going to be like. The English often say: "Other countries have a
climate, in England we have weather. For another thing, the weather is a safe topic for conversation. It
plays a big part in the lives of the British people. Every daily newspaper publishes a weather forecast.
Both the radio and the television give the weather forecast several times each day.



The club is decidedly British institution. Club membership is a part of clubmen professional and
business life. Membership of the club is regarded as carrying a certain social prestige. Most of the
clubs are old. They derived from a coffee-house, where Englishmen gathered for company and
conversation. The members of all clubs are to be selected. There exist school clubs and college clubs,
political clubs and cultural clubs, town clubs and country clubs. There are sports clubs of all sorts.
Sixty years ago clubs were regarded to be only male territory. Now nearly all the clubs are open for
both men and women.

These are some peculiarities of the British way of life.

Vocabulary

{0 suppose — noyaratb

Merry — Becénblii

Boastful — xBacTiauBeIit

to repute, to regard — cuurtaTh

Reserved — ciepskaHHbIi

Haughty — BeicokoMepHBIit

Steady — ypaBHOBeIICHHBI#

easy-going — 1o0poTyIHbIH

Intolerance — nerepruMoCTh

self-confidence — camoyBepeHHOCTH

Property — coocTBeHHOE

Castle — kpemocTs

for one thing — ¢ oxHOI cTOpOHBI

for another thing — ¢ npyroii ctopoHs!

weather forecast — mporuo3 morosr

Decidedly — HecomHeHHO

Membership — unenctBo

to derive — mpoucxomuThb

to elect, to select — BrIOMpaTh

Nearly — noutn

Peculiarity — ocobeHHOCTB

Answer the following questions:

What are the most striking features of the English?

Why are the English called a nation of stay-at-homes?

What is the focus of the English home?

What is part of the prose of British life?

Why does the weather play a big part in the lives of the British people?
What is regarded as carrying a certain social prestige?

o gk wbhE

Think and say about:

1. Which of the character features below can you think of as positive or negative? Why?

a) adaptability; b) individualism; c) independence; d) self-confidence; e) intolerance; f)
practicability; g) conservatism; h) boast.

2. What features are characteristic for people of our country?

Tema 2. 'epynanii. KommbsroTepHbie CHCTEMBI: 0030D



CtpoeHue KOMITBIOTEPHOW CHCTEMBI. AmmaparHoe OOCCIeYeHHe, MPOTPaMMHOE OOECTICUCHHE W
BcTpoeHHoe [10. Drtambl pa3BUTHS KOMIBIOTEPOB. AMEpPUKAHCKMH 00pa3 >KM3HU. BalmHITOH.
I'pammaruka: TrepyHAuWi, Triaroiel, TpeOyromue mociae ceO0s HUCHOJb30BAHUS  TePYHIMS.
I'epynaunanbHbIil 060poT, Ipedukc OVer-
[lockonbKy JaHHOE TIpaMMaTUYECKOE SIBJIEHHUE OTCYTCTBYET B PYCCKOM $3bIKE, CTyAEHTaM
HeoOXoIuMO OOBSCHUTH M I[OKa3aTh Ha MpUMEpax 4yTo M3 ceds mpexacraBiser repyHauil. Ha
MPAKTUYECKUX 3aHATUAX KOMOMHHpyeTcsi paboTa mo yueOHHKY OpJIOBCKOW W3 CIHCKa OCHOBHOM
nutepatypsl (Lesson 8), YuebHoro mocobus s cTyaeHToB 2-To Kypca (Lesson 4), a Tak ke yueOHuKa
Pagosens B.A. «OcHOBBI KoMIbIOTEPHOIH rpamotHOcTH» (UNIt5). YacTth ynpakHEHHH BBIIOIHIETCS
BMECTE C IpenojaBareiieM, 4acTh BXOAMT B CaMOCTOSTENbHYIO pabory cryneHTa. Kpome Toro
MPOBOAMTCS paboTa Mo CTpaHoBe4Yeckor Teme “London” ¢ ucnosb30BaHHEM BHICOMATEPUAIIOB.
The Gerund (I'epynauii)
['epynauii — 5T0 HenmMuHast popma riarosna, 00JanaoNIas CBOMCTBAMH KaK CYIIECTBUTEIHHOTO,
Tak U riaroja. BeipaxkaeT nporecc aeicTBusl.
O6pasyercs V+ing

XapakTepHbIM MPU3HAKOM T'ePYHIUS SBISETCS HAIMYKE MEePe HUM:

1) npemora;

2) TPUTSHKATEIBHOTO MECTOUMEHHUS,

3) CyILIECTBUTEIBHOTO B MIPUTSKATEIHHOM HJIH OOIIEM aIeKe.

I'epyHnuii ¢ OTHOCAIIMMUCS K HEMY CII0BaMU 00pa3yeT repyHAUAIbHBIN 000pOT.
®opMbI repyHaus

Tense Active Passive
Simple driving being driven
Perfect having driven having been driven
Functions.
1. Subject

Reading books in English is very important.— Uutate KHUTH Ha aHTJIHMICKOM SI3bIKE — OUSHb BAXKHO.
There is no avoiding it. - DToro He U36eKaTh.
It’s no use going there. - becrionie3no uaTH Tya.
2. Predicative
a)after to be: His hobby is collecting stamps. — Ero xo60u — KOJUIEKIIMOHUPO-BAaHHE MapOK
b) after can’t stand, can’t bare, can’t help: She couldn’t help laughing. - Ona #e mora
yIEPKATHCS OT CMEXa.
| can’t stand her singing. - He Mory BBIHOCHUTH €€ NICHHE.
c)He gave up smoking. - Ou 6pocui KypuTh. (ITOCIIE TI1arojoB, BRIPAKAIOIINX HAYAIIO,
POIOJDKEHHE U KOHeI[ eficTBus: to Stop, cease, keep on, go on, continue, start, finish, begin, give up).
3. Attribute (after nouns + preposition)
I had a chance of meeting him.—Y MeHst ObuT IIAaHC BCTPETUTHCS C HUM.
She has difficulties in speaking.— YV Hee npo0iieMbI ¢ TOBOPECHHUEM.
4. Object
a)  direct object (after verbs without prepositions)
| enjoy swimming in the sea.— 51 1106110 KymaThCsi B MOpE.
He denies having taken the book.— On oTtpuriaer, 4To B3sUT KHUTY.
b) indirect object (after verbs with prepositions)




| am afraid of diving.— 5 60t0ch T7IyOOKO HBIPSTS.

They depend on his coming in time.— OHu 3aBUCAT OT €r0 CBOEBPEMEHHOTO ITPUXO/Ia.
5. Adverbial modifier of: (Bceraa ¢ npemsiorom)

a) time (with prepositions: upon, on, after, before, at...)

On coming home he lit up a fire. - [Ipuas moMoid, OH 3a)Ker KaMuH.

b) manner (in, by)

We spent the day in packing. - MsI moTpaTuin JeHb Ha YIIAKOBKY BEILEH.

C) attendant circumstances (without)

We danced without speaking. - MsI TanmeBanu moiua (6€3 pasroBopoB).

d) purpose (for)

The floor is used for dancing.— ITiomaaka UCHIOAB3YETCS ISl TAHIICB.

e) concession (in spite of)

In spite of being ill she finished her work. - Hecmotpst Ha 60ie3Hb, OHa 3aKOHYMIA PAOOTY.

f) condition (without)

You can’t go there without being invited. - Ber He MoseTe moiiTh Tyma 6¢3 MpHUrIIAIICHHS.

9) reason

| feel better because of having spent a month at the seaside. - I uyBcTByt0 cebs nydiiie, TOTOMY 4TO
MPOBEJT MECSIIT Ha MOPCKOM MTOOEPEKbE.

Note: B pyHKIMH 00CcTOATENBCTBA TEPYHINN MCITOIB3YETCs TIOCIIE IpeyIoroB in, at, on, after,
before, etc...
FGPYH)II/II\/'I C MOCJICAYIOIHM CYHICCTBUTCIIBHBIM YKAa3bIBACT HA HA3HAUYCHUC ITPCAMETA, OTBEHACT

Ha BOIIPOCHI «JIA yero? JJIs1 KaKou I_ICJ'II/I?» " IEPCBOAUTCA oo CYHICCTBUTCIbHBIM B UMCHUTCIIbHOM
HJIX pOAUTCIIbHOM IIaACKaAX, 6o MpujaaraTcJibHbIM. Brimoanser (I)YHKLII/IIO OIIPECACIICHUS.
a smoking room — koMHaTa JIsl KypeHus;
a boiling point — Touka kuneHwus.
Compare: Participle: a dancing girl— no changes are possible.
Gerund: dancing shoes— shoes for dancing

Gerundial Object

9TO coueTaHue MPUTSXKATCIBbHOI0O MECTOMMCEHUSA WM CYIIECTBUTCIIBHOTO B IPUTAXKATCIBHOM
Wik obmeM mnajaexe ¢ repyHaueM. Takoir 00OpOT MepeBOAMTCS MPUAATOYHBIM MPEIJIOKEHUEM C
COI03aMU «UTO; TO, YTO; O TOM, YTOOBI; B TOM, YTO», IIPHUUYEM T€PYHIUN B PYCCKOM MNPEIJIOKEHUU
CTaAaHOBUTCA CKa3yE€MbIM OTOI'0 IMPHAATOYHOI'O IMPEATIOKCHUA. HpI/ITSDKaTeJ'II)HOG MCECTOMMCHHUE HIIN
CYIICCTBUTCIIBHOC CTAHOBUTCA NMOMJIC)KAITUM MPHUAATOYHOT'O IMTPCATIOKCHUA.

We all know of their designing a new type of semiconductor radio set. — MsI Bce 3HaeMm, 4TO
OHHU IMPOCKTUPVIOT HOBBIU THUII paaruoIIpucMHUKa Ha TOJYIIPOBOAHUKAX.

Smirnov’s taking part in the development of the new cooling system was of great help to us. —
To, umo Cmupnos npunsan yuacmue B yCOBEPIIEHCTBOBAHUN HOBOM OXJIAIUTEIILHOM CUCTEMBI, OY€Hb

IIOMOTIJIO HaM.

Ex. 1 Translate the phrases and the sentences.

a) without destroying; without maintaining; without studying; without replacing; without creating.

b) instead of improving, instead of exploring, instead of putting, instead of solving, instead of saving,
instead of processing, instead of mounting, instead of utilizing, instead of constructing, instead of
referring.



c) Stop cooling! Stop heating! Stop working! Stop reading! Stop oxidizing! Stop observing!
Ex. 2 Translate the sentences and define the functions of the Gerund.

. Measuring distances to the planets and stars has a lot of difficulties.

. One of the effects of heat is turning a solid into liquid.

. He likes reading.

. Heating the substance up to 85 °C was absolutely necessary.

. Thank you for coming.

. The idea of utilizing the energy of oceans and seas for man’s needs is not new.
. I watched Paul’s reading.

. Water may be cooled without becoming solid.

. I like Jane’s singing.

10. There are ways of generating heat besides that of combustion.

11. Heat is a form of energy, that is, it is capable of doing work.

12. Studying these phenomena was a difficult task for the scientists.

Ex. 3 Translate and define the function and the form of the Gerund.

A.
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Reading English technical magazines is important for an engineer.

He remembers having added some water to the mixture.

They finished installing the apparatus only on Saturday.

They began making the experiment in May.

After failing his examination in January he had to take it again in February.
After graduating from the Institute he worked in the Far North.

At the meeting they discussed different ways of improving their work.

There are different ways of obtaining the substance.

The organizers of the conference were informed of his refusing to take part in it.
I remember his having been interested in languages in his childhood.
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| know of his having been sent to work to the Far East.
What is the reason for his having left our city so suddenly?
We heard of the experiment having been started last week.
He improved his report by changing the end.
They objected to his staying at home.
Instead of restoring the old theatre they decided to build a new one in the center of the town.
New possibilities for applying atomic energy open up.
It is possible to set up power stations based on utilizing the heat of the Sun.
The idea of creating a multi-stage rocket belongs to Tsiolkovsky.
Before being sent up the balloon was filled with a special gas.
What apparatus do we use for measuring air pressure?
Science requires experimenting.
13. Speaking foreign languages is important for every educated man.
Ex. 4 Translate paying attention to the —ing form.
1. The monument needs restoring.
2. The monument of what century are you restoring?
3. The monument of what century is being restored?
4. The experts restoring the monument were provided with modern techniques.
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5. With the help of a magnet we can hold two huge metal plates together without tying them.

6. He pointed out that the assembling time of the apparatus was very short.

7. The police were informed of the criminals having appeared in the city.

8. The committee studied the problem of improving the bus service in the town without increasing the
number of buses operating on the routes.

9. Increasing population of the world changes the face of the Earth.

10. Heating the substance to high temperatures the substance considerably expanded.

11. Being heated to high temperatures the substance considerably expanded.

12. The substance was being heated for three hours.

Ilepesedume u 3anomuume ciedyrouue 21a20asl U blpadcenuss, mpeoyuue nocie ceos
2epYHOUsL:
to avoid to excuse to keep (on)
to burst out to finish to mind
cannot help to forgive to postpone
to deny to give up to put off
to enjoy togoon to like

Ex. 5 Translate the sentences with the Gerund.

1. He keeps insisting on my going to the south.

2. Oh please do stop laughing at him.

3. Do you mind my asking you a difficult question?
4. Would you mind coming again in a day or two?
5. I don’t mind wearing this dress.

6. She could not help smiling.

7. 1 cannot put off doing this translation.

8. Though David was tired, he went on walking in the direction of Dover.
9. I avoided speaking to them about that matter.

10. She burst out crying.

11. They burst out laughing.

12. She denied having been at home that evening.
13. He enjoyed talking of the pleasures of traveling.
14. Excuse my leaving you at such a moment.

15. Please forgive my interfering.

Ex. 6 Translate into English, using the Gerund.

. HCpCCTaHLTe pasroBapuBaThb.

. MBI 3aKkoHYMIIN pabOTy HaJl 3TOM MPOoOIEMOH.

. [Iponoskaiite ners.

. BbI HEe TpOTUB TOr0, YTOOBI OTKPHITH OKHO?

. OH oTpHILIaJI CBOE y4acTHE B MPECTYILICHHUH.

. 51 odeHb 100610 PUCOBATE.

. M1 MMOJIYYHJIN YAOBOJBCTBUEC OT ITJIaBaHM.

. 51 He MOTJ1a HE COTJIACUTLCSA C HUM.

. OH paccmesics.

10. Ona Gpocuiia KypuTh.
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11. Ona u3berana BCTpeyd ¢ HUM.
12. MBI OT0KHUM 0OCYXKJIEHUE JOKIIa .



13. HakoHel, OHM nepecTaii CMEATHCS.
14. OHa oTpuIiana, 4To yKpajia JeHbIH.

Ilepesedume u 3anomuume ciedyrouue 21a20asl U blpadcenus, mpeoyuue nocie ceos
2ePYHOUsL C ONPeOeNeHHbIMU NPedlo2aMIL:
to accuse of to insist of
to agree to to look forward to
to approve of to object to
to be afraid of to persist in
to congratulate on to prevent from
to depend on to succeed in
to dream of to suspect of
to feel like to thank for
to give up the idea of to think of

Ex. 7 Translate the sentences.

. My friend succeeded in translating this difficult text.

. She suspected him of deceiving her.

. The poor peasant thanked Robin Hood heartily for having helped him.
. He gave up the idea of ever hearing from her.

. We are looking forward to seeing you again.

. He has always dreamt of visiting other countries.

. He persisted in trying to solve that difficult problem.

. The cold weather prevented the girls from going for long walks.

. Jane thought of leaving Lowood after Miss Temple’s marriage.

10. They accuse him of having robbed the house.

11. He never agreed to their going on that dangerous voyage.

12. He did not approve of her drinking so much coffee.

13. The teacher of mathematics did not approve of his pupils dreaming.
14. All the happiness of my life depends on your loving me.

15. I don’t feel like seeing him.
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Ex. 8 Open the brackets, using the Gerund in Active and Passive form.
1. He was always ready for (to help) people.
2. He was very glad of (to help) in his difficulty.
3. On (to allow) to leave the room the children immediately ran out into the yard and began (to play).
4. In (to make) this experiment they came across some very interesting phenomena.
5. The results of the experiment must be checked and rechecked before (to publish).
6. David was tired of (to scold) all the time.
Ex. 9 Give the possible variants of translation.
a) Subject:
1.  Maintaining constant temperature and pressure during the test was absolutely necessary.
2.  The student’s taking part in the research was of great help to the whole laboratory.
3. His offering new temperature conditions for the system will give greater efficiency.
b) Predicative:
1. The task of the factory was producing corrosion-resistant polymers in far larger quantities.



2. Their aim is finding new ways of utilizing this first-class polymer in light industry.

c) Object:

1. The experimentalist suggested purifying the solution by a new method.

2. The researcher took great interest in our improving the properties of the rubber-like
substances.

3. We know of silver and copper being very good conductors of electricity.

d) Attribute:

1. The new heating and lighting installations supply the shops of our plant with heat and
light.

2. At present scientists take great interest in the methods of turning the light and heat of the
sun directly into electricity.

e) Adverbial modifier:

1. By subjecting air to very great pressure and cooling it is possible to transform it to the
liquid state.

2. One cannot transform water into steam without heating it.

3. In converting water into ice we do not change its composition.

4. Physical changes are those which influence the condition or state of matter without

changing its composition.

Ex. 10 Translate and define the function of the Gerund.

1. Using radioactive isotopes opens up new possibilities for medicine and agriculture.

2. John Dalton stated that atoms are incapable of being destroyed or created.

3. The Curies’ having discovered radium gave them the possibility of discovering other radioactive
elements.

4. One of the ways of producing tremendous energy is imitating on the Earth the process that makes
the Sun shine.

5. We know of the atomic reactor being fed with uranium 235.

6. After the young scientist’s report having been discussed at the conference it was published in a
scientific journal.

7. We know of Yablochkov’s having found a brilliant solution to the difficult problem of using the
electric arc for lighting.

8. While heavy atoms can be made to release energy by splitting, light atoms, such as hydrogen, can
yield energy by being fused together.

9. Work on “braking” the H-bomb and on using the fusion process for generating electricity is going
forward in several countries.

10. Conducting heat and electricity is the property of most metals. Their being good conductors of heat

and electricity made them widely used in industry.
Ilpumepnulit mexkcm no cmpanogeoeHu.
London

London is the capital of Great Britain, it is one of the largest cities in the world. London is
situated on both sides of the Thames. There are fourteen bridges across the Thames. There are four

parts in London: the City, the West End, the East End and the Port.

The City is the oldest part of London. There are no houses in the City, only large office
buildings. It is the country's financial and business centre. The Stock Exchange, the Royal Exchange,

the Bank of England are all there. At night the City is quiet and empty.



The name "West End" is associated with the rich. It's the finest part of London. In the West End
there are theatres, cinemas, museums, picture galleries, long streets of fine shops and many big houses.
There are beautiful parks, too.

The Houses of Parliament, Whitehall, Downing Street are all in the West End. Whitehall is the
street where all the Government offices are. It is the heart of the Government of Great Britain.

If the City is the "money" of London, and the West End is the "goods™ of London, then the East
End is the "hands" of London. Working-class London is in the East End. It is a district of docks,
factories, poor little houses and narrow streets. Housing conditions in this part of London are very bad.
Lots of old houses have no modern conveniences. They are damp, dirty and dark.

The East End and the Port of London are situated to the east of the City. They are unattractive,
but very important to the country's economy.

London is very rich in sights. Among them is Westminster Abbey which is famous for its
architecture and history. In Westminster Abbey the kings and queens of England are buried. Here is
also the Poet's Corner where many great writers and poets are buried: Kipling, Dickens, Tennyson, the
memorials to Shakespeare and Byron, Scott and Longfellow.

Of no less interest are the Houses of Parliament with Big Ben, the Buckingham Palace — the
Queens residence, the National Art Gallery, the British Museum, St. Paul's Cathedral and the Tower,
which was first a fortress, then a prison and which is now a museum.

Trafalgar Square is about a hundred years old. The main feature is the tall Nelson monument,
with the figure of the great seaman on the top. Many demonstrations and meetings take place here.

There are a lot of parks in London, the most famous of them is Hyde Park with its Speaker’s
Corner.

Sunday is a very quiet day in London. All the shops are not open and so are theatres and most of
the cinemas. Londoners like to get out of the town on Sundays. They often go down to the sea for the
day.

Vocabulary

Associate — accoruupoBaTh

Abbey — a66aTcTBO

Fortress — kpenocts

Financial — ¢unancoBBIi

Empty — mycroit

Damp — cbIpoii, BasKHBIH

Narrow — y3kwuii

To bury — xopoHUTH

Sights — gocTonpuMevaTeIbHOCTH

Fortress — kpemnocts

Feature — geprta, 0cOOEHHOCTH

Top — BepirHa

Unattractive — HenpuBIeKaTeNbHBIN

Housing — xwuiibe (311, JKUTHAIITHBIN )

The Stock Exchange — ®ounpnoBast 6uprka

The Royal Exchange — JlongoHckas Oupika

"g0o0ds" — 371. BUTpHHA, I/Ie BBICTABIIEHO BCE HA MTOKa3

Answer the following questions:
1. Where is London situated?



How many bridges are there across the Thames?

What are the four parts of London?

What sights do you know in London?

What can you say about the City?

What can you say about the West End?

Where are the East End and the Port situated? What can you say about these districts?
What is the most famous park of London?
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Tema 3 UnpuauTuB. McTopust KOMIBIOTEPOB
IIepBble BbIUMCAUTENBbHBIE YyCTpOMCTBA. llepBble KOMIBIOTEPBI. UeThIpe IOKOJICHHS KOMIIBIOTEPOB.
Criucok BeIpaKEHHM, pEKOMEHAYEMbIX JJIsl HanucaHus pedepara u anHotanuu. I pammaruka: @opMer
uHpUHUTHBA 1 ero QyHKIUH B nipeaiokennn. Kaysatusubie riaronsl t0 make, to cause, to force.
Ha mnpakTtuyeckux 3aHATHSX pa3Ompaercs rpaMmaTHyeckas TemMa HHOUHUTHB U ero (YHKIHH B
IIPEUIOKEHUN M BBOJUTCSA HOBas JICKCHMKA IO TE€ME BBIYHUCIMTENBHBIX YCTPOMCTB.. B nmanpHeiimem
JIEKCHKa M TpaMMaTHKa OTpadaThIBalOTCS B TEKCTaX M YHpaXKHEHUsAX 1no yueOHuky Oprosckoit 1.B.
(Lesson 10), yueonuky PamoBenr B.A (Unit 3) u yueOHOMY MOCOOHIO TS CTYAEHTOB 2-TO Kypca
(Lesson 6). “Climate of England” [lance pa3OuparoTcst BeIpayKCHHs ISl COCTaBICHHs pedepara H
AHHOTAITUU TI0 Y4eOHOMY ITOCOONI0 «AHHOTUPOBAHKE U pehepupoBaHre TCKCTAY.
The Infinitive

WupunntuB — HenmnmyHas ¢opma TIIarona, KoTopas o0JiafaeT CBOWCTBAMH CYHIECTBUTEIHLHOTO,
riaroja, npuiaratenbHoro. Ilpencrasisier ocHOBY riarosia, KOTOpoil 0OBIUHO IPEAIECTBYET YacTHLA
to.

®opmbl HH(PUHUTHBA

Tense Active Passive
Simple to help to be helped
Continuous to be helping -
Perfect to have helped to have been helped
Perfect Continuous to have been helping -

Functions

1.  Subject (ITognexariee)

a)  To study well is our duty.— Xopoio yautbcst — Halra 0053aHHOCTb.

b)  Itis necessary (important, nice, good, pleasant, strange...) to read original literature.—
HeoOxoaumo yuTath TuTepaTypy B OpUTrHHAIIE.

2.  Predicative (Cka3yemoe)

a)  after to be: Our duty is to study well.— Haima 00513aHHOCTh — XOPOIIIO YYUTHCA..

b)  after the verbs to start, to cease, to stop: The child began to cry.— PeGenok Hauai miakarsb.

c)  after modal verbs bare infinitive! She must be watching TV now.— OHa, 10/kKHO ObITh, CMOTPUT
TEJIEBU30p cenyac.
They may have listened to the text already.— Ouu, Bo3MOKHO, yXe MPOCITYIIAIHA TEKCT.

d) after had better (would rather (sooner)) do smith.

You had better finish your work in time. (bare infinitive!) — Te6e nyurie 3akoHYHTH pabOTy BOBpEMSI.

I’d sooner die than kiss him.— fI ckopee ympy, ueM MOIENyIO €ro.

3. Parentheses (BBoxusie cnoBa, dhpasbr)

to tell the truth, to begin with, needless to say, to put it mildly

| took salad to begin with.— /{yis navana s 3aka3ain (B3su1) canar.




4.  Object (Jlommonuenue)
a)  want, wish, hope, expect, hate, like, prefer...
I hope to meet her.— Hanerock BCTpeTuTh €.
He likes to eat cakes.— OH nr00UT KyIIaTh THPOXKHEIE.
b) to be glad, to be sorry, to be eager, etc...
I am so sorry to hear it.— Xaup cisimars 370.
c) tofind, to consider, to think
He finds it necessary to join us.— OH curTaeT HeOOXOAMMBIM ITPHCOETUHUTHCS K HAM.
5.  Attribute (Onpenenenune) (after noun, pronoun, numeral)
I have no time to lose.— He mory TepsiTh Bpemsi.
She was the first to enter the room.— Ona nepBoii BolL1a B KOMHATY.
6.  Adverbial modifier of (O6¢cTosiTenbcTBO):
a) purpose (so as, in order) — rienu
We’ve come here to study.— Mel npunuiu croaa, 4To0bl yUUThCH.
b) result (too, enough) - pesynbraTa
She is too weak to go upstairs.— Ona ciuikom ciaaba, 9T00bI OAHATHCS HABEPX.
You are clever enough to understand it.— Tsl 10cTaTOYHO YMEH, YTOOBI MOHSATH ITO.
c) comparison (than) - cpaBHeHUs
It’s better once to see than to hear.— JIydmie onuH pa3 yBUICTb, YeM yCIIBIIIAT.
d) exception (no particle “to”) — uckiroYeHUs
There was nothing left to do, but go.— Hudero ue octaBanock aenarh, Kak HATH.
For-to — Infinitive Construction
COCTOHT M3 CYIIECTBUTEILHOTO I MECTOMMEHHSI, BEIPAXKAIOIIETO UCTIOTHUTENS ACHCTBUS,
BBIPOKCHHOTO HHOUHUTHBOM M UMEET repes coboi npemitor “for”. MoxeT BBINONHATH B
NPETIOKEHUH Pa3THUHbIC (DYHKIINH.

Examples:

1. It’s bad for him to smoke.— ITnoxo, 4ro o Kypur (Subj.).

2. For me to drive the car will be dangerous.— Mue Gyzer onacHo BoauTh MamuHy (Subj.).

3. The old man waited for the door to open.— IToxwuI0it YyenoBeK k/1aj, KOraa OTKPOETCs IBEPh
(object).

4. | have a book for you to read on the train.— YV MeHst ecTb KHHTra, KOTOPYIO THI MOKEIIIb
mouyuTath B moesze (attribute).

5. The tendency in these songs is for the refrain to occupy a more prominent place.— Tennenuus
B OTHX IECHSIX TAaKOBa, YTO MPHIIEB 3aHUMAET OoJiee 3HauUnTeNbHOE MecTo (predicative).

6. I’1l send you some views of our city for you to show them to your wife and daughter.— 51

BBILIUTIO TeOe HECKOJIbKO (hoTorpaduii Hamero ropoa, 4To0Obl ThI MOKa3al UX XKeHe u gouepu (adv
mod of purpose).

7. He spoke loud enough for you to hear.— Ou roBopui1 10CTaTOYHO TPOMKO JIJISI TOTO, YTOOBI ThI
ero ycubian (adv. mod. of result).

Ex. 1 Translate the sentences.

1. They were happy to take part in our expedition.

2. She wanted to be answered at once.

3. He was happy to be working with the famous scientist.

4. 1t’s very difficult to drive a car in a big city.

5. Water may be used to drive dynamos which generate electricity.



6. Sputniks do not need any additional energy to move along their orbit.
7. Newton made use of the three laws of motion to explain the movement of the Moon around the Earth
and of the planets around the Sun.
8. To extend the main street they had to destroy some old buildings.
9. The workers will use powerful machinery to assemble these huge units.
10. In this area there are no monuments to speak of.
11. Dalton’s atomic theory was the first to make successful use of the old Greek theory of atoms in
chemistry.
12. The new channel to be constructed here will be the longest in the country.
13. The new branches of industry to be developed in this part of the country are metallurgy and radio
engineering.
14. Another reason to consider is the absence of necessary facilities for the experiment.
Ex.2 Translate and define the functions of the Infinitive.
1. The problem to be discussed is connected with the city water supply system.
2. This method is not good enough to be used everywhere.
3. A new comfortable coach was developed to transport people over long distances.
4. He was saving money to travel about the country.
5. It did not take much time to pave the road.
6. The internal combustion engine to be used in this lorry is of a new design.
7. The road surface to be repaired was destroyed many years ago by heavy vehicles.
8. Goods to be transported to the north are stored at the railway station.
9. He was too tired to be asked any questions.
10. England looks like one well ordered park. Englishmen like to preserve various old trees. There are
some trees which were even too old to be cut for building ships in the seventeenth century.
11. A high speed electronic machine has introduced great changes in carrying out various
mathematical calculations. This electronic machine works according to a programme to be prepared
in advance and can carry out several thousand arithmetic operations per second.
Ex. 3 Translate and define the forms and the functions of the Infinitive.
1. The child wanted to be taken seriously.
He didn't hear the boy enter the room.
The dog was the first to feel danger.
This question is too complicated to be answered at once.
The engine to be installed in this car is very powerful.
Where is the work to be done?
To explain the problem the students were interested in, the engineer demon-strated some
diagrams.
8.  To grow fruit one must have good soil.
9. Do you know the language well enough to read English newspapers and magazines?
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Tema 4 lHQUHUTUBHBIE KOHCTPYKIMH. Y CTPOWCTBA BBOJA U BBIBOIa MH(POPMALIUN

CpenctBa BBOAA/BBIBOJIa HMH(OpMAaMU. YCTpoWCTBa BBOJA. YCTpOWCTBa BbIBOJAA. I[IpUHTEpHI.
Ckanepsl. KnaBuarypusie cpencrtBa. CocraBienue oOpasma pedepara u aHHOTauuu. I'pamMmaTHka:
KoHCTpyKIIMN «CIOKHOE [IOMOJHEHUE M CIO0XKHOE MOoAJIexallee ¢ WHQUHUTUBOM», IMOBTOPEHUE
HETUYHBIX (OpM riaaronia (MpudyacTue, repyHaui, HHOUHUTHB)

Ha mnpaktudeckux 3aHATUSAX pa3OupaeTcs TIpaMMarTHdeckas TeMma CIOXKHBIX HWH(UHUTHBHBIX
KOHCTPYKLIMH M BBOJUTCS HOBas JIEKCMKAa IO TeM€ YCTPOICTB BBOJAa M BbIBOJAa MH(popmanuu. B



JTanbHEHIIeM JIKCHKa M TpaMMaThKa OTpa0aThIBAIOTCA B TEKCTaX W YIPWKHEHHUSIX MO YYCOHHKY
Opiosckoit M.B. (Lesson 11), yueonuky Pagosens B.A (Unit 9) u yueGHOMY 1OCOOUIO ISl CTYJCHTOB
2-to kypca (Lesson 6). IMapamiensHo u3ydaercs tema “American way of life”. [lanee oObsicHsieTcs,
KaK COCTaBJISATh MOHOpedepaT Ha aHTITMICKOM SI3BIKE a TaK jK€ paccMaTpuBaeTcs npumep pedepara mo
yaeOHOMY TOCOOHI0 «AHHOTHPOBaAHKE U pedeprupoBaHUE TEKCTA
to be sure
to be certain
She is likely to return soon.— BeposiTHo, OHa CKOpO BEpHETCSI.
We are sure to leave in a minute.— Ckopee Bcero, Mbl 4epe3 MHHYTY YiJICM.
1. With the verbs to seem, to happen, to appear, to chance, to prove, to turn out
She seems to have seen this film.— Oxa3siBacTcsi, OHa BHIENIA 3TOT QHUIIBM.
Grammar exercises:

Ex.1 Translate the sentences with Complex Object. Cino:kHble HHPUHUTHBHBIE KOHCTPYKIIUU

Complex Object with the Infinitive — Ciio:xxHoe qonosiHeHHe ¢ HHPUHUTHBOM

It consists of two elements:
1 —anoun or a pronoun; 2 — infinitive
1. After verbs of sense perception (hear, see, watch, feel, notice, observe) bare infinitive is used
without “to”.
| watched the boy play.— I cMotpen, Kak Mab4uK UTPAJL.
| felt him touch me. - 5l uyBcTBOBaA, KaK OH MPUKOCHYJICS KO MHE.
2. After verbs of mental activity (understand, know, realize, think, believe, suppose, consider,
expect, find)
Everybody considers her to be clever.— Bee cunrtaror eé yMHOJ.
They expected me to arrive on Monday.— Ouu oXuaTd, 9TO s IPUETY B MTOHEICTbHUK.
3. After verbs expressing feelings and emotions (like, dislike, hate, love, want, wish, prefer,
intent, desire)
I hate him to grumble. Tepriets He MOTY, KOT/Ia OH BOPYHT.
I’d like her to arrive.— 5 6s1 X0Tena, YTOOBI OHA MPHEXaIa.
4. After verbs of compulsion (cause - Beinyxnath, bare, stand — BeiHOCHTD)
Her last words caused him to change his mind.— E€ nmocnennue cinoBa 3actaBuiiu ero nepeaymarsb. |
can’t bare him (to) smoke. —He BeiHOMIY, KOT/J]a OH KYPHT.
5. After verbs (make — 3acraBnsats, have — nomyckars, get — noo6uBatbcs, let - mo3Bosnsts) — bare
infinitive is used.
I will not have you talk to her in such a way.— 51 He gomyriry, 4T00 ThI C HE TaK pa3roBapHBall.
We shall get you do everything in time.— Ms1 100beMcst, 4TOOBI THI BCE JI€]Ta] BOBPEMSI.

HaBCpHsKa, CKOPEE BCEro

6. After verbs of order and permission (let, allow, order, make, force)
She allowed him to be here tonight.— Ona no3Bonuaa emy 3/1eCh ObITH CETOTHS BEUEPOM.
7. Verbs of speech (say, report, declare, tell)

They reported the girl to be the winner.— Onu cooOrwIN, YTO IEBOYKA CTaja MOOSAUTEIHHULICH.
Complex Subject with the Infinitive
It consists of two elements. The verbs are mainly used in Passive Voice.

2. With the verbs of sense perception (I'1rarosisr 4yBCTBEHHOTO BOCIIPHUSTHSL).
The girl was seen to cross the street.— Bugenu, kak AeBoYKa MEPEXOUIIA YIIHILY.
3. With the verbs of mental activity— (I'1aromamu yMCTBEHHOM A€SITEIBHOCTH).

You are supposed to have done the exercises.— [Ipearnonaraercsi, 4To BbI BBIIOJHIIN YIIPAXKHEHUS.



You are supposed to go there.— IIpeamonaraercs, 9To BbI MOHAETE TY/IA.

4. With the verbs of order, request, permission (make, let, order, force, allow)
I was made to sweep the floor.— Mens 3acTaBusIH MOAMECTH IOJI.

5. With the verbs of speech

She was reported to be the winner.— Coo01uiu, 4To oHa - TOOCTUTEb.

‘ to be likely ‘ [IOX0JKE, BEPOSATHO, HABEPHSIKA
1. He wanted us to visit the art exhibition.
2. | expect you to tell me everything.
3. I suppose her to be about 50.
4. The teacher does not consider him to be a good student.
5. The engineer expected the work to be done in time.
6. We expect you to show good results.
7. We know him to have graduated from the Institute two years ago.
8. Everybody knows him to be working on a new book.

9. We believe cybernetics to be an important branch of modern technology.
10. We thought him to have taken part in their experiment.
11. She felt somebody touch her.
12. We heard him come in and close the door behind him.
13. Have you ever seen Ulanova dance?
14. She watched the boy buy a newspaper, open it, look it through and then throw it away.
15. I heard him mention my sister's name.
16.Many people like to watch the sun rise.
17.She saw her son fall and shouted.
18.He likes watching his son play in the garden.
19.The students heard the bell ring.
20. You can't make me believe that all these stories are true.
21. In spite of bad weather the instructor made the sportsmen continue their training.
Ex. 2. Translate the sentences with Complex Subject
6. The lecture was said to be very interesting.

7. The members of the committee are reported to come to an agreement.
8. The English delegation is believed to come at the end of the month.
9. She seems to know English and French.

10. He proved to be a good teacher.

11. This school is considered to be the best in the town.

12. The weather appears to be improving.

13. The doctor happened to be there at the time of the accident.

14. She seems to be waiting for you.

15. Lake Baikal is said to be the deepest in the world.



16.

17.

This picture proved to be the best at the exhibition.

These two scientists happened to work on the same problem.

Ex. 3 Translate the sentences with Infinitive Constructions.

1.
2.

3.

10.

11.
12.

13.

14.
15.
16.

17.

A lot of people came to watch the ocean liner return home after a long voyage.
Everybody thought him to be quite a reliable person.

The captain declared the load to be too much for his small boat.

He seems to know a great deal about the history of navigation.

The boat, though very small, proved to be quite reliable.

The 20th century is considered to be the century of space travels.

The motor proved to be quite efficient.

Atomic ice-breakers are known to operate on a negligible quantity of atomic fuel.
The results of the test were found to be very interesting.

I know them to be working on the problem of protecting the cosmonauts from the effect of sun
radiation.

Rubber is known to have been brought from America.
Ink is supposed to have been invented in Egypt.

We expected him to be appointed director of a new automobile plant.
This question appears to be of great importance.

The plan proved to be a great success.

The travellers found the people of the small island (to be) very friendly.
They reported the capacity of the new engine to have been increased.
The owner of the motor car wanted the old engine to be replaced.

Kak cocraBasiercs: pepepar u aHHOTAUMS
Texcm: The history of Personal Computer
In 1952, a major computing company took a decision to get out of the business of making

mainframe computers. They believed that there was only a market for four mainframes in whole
world. That company was IBM. The following year they reversed their decision.

In 1980, IBM decided that there was a market for 250,000 PCs, so they set up a special team to

develop the first IBM PC. It went on sale in 1981 and set a world-wide standard for IBM-compatibility

which,

over the next ten years, was only seriously challenged by one other company, Apple

Computers. Since then, over seventy million PCs made by IBM and manufactures have been sold.
Over this period, PCs have become commaodity items. Since IBM made the design non-proprietary,
anyone can make them.



The history of the multi-billion dollar PC industry has been one of mistakes. Xerox Corporation
funded the initial research on personal computers in their Palo Alto laboratory in California. However,
the company failed to capitalize on this work, and the ideas that they put together went into the
operating system developed for Apple's computers. This was a graphical interface: using a mouse, the
user clicks on icons, which represent the function to be performed.

The first IBM PC was developed using existing available electrical components. With IBM's
badge on the box it became the standard machine for large corporations to purchase. When IBM were
looking for operating system, they went initially to Digital Research, who were market leaders in
command-based operating systems (these are operating systems in which the users type in commands
to perform a function). When the collaboration between IBM and Digital Research failed, IBM turned
to Bill Gates, then 25 years old, to write their operating system.

Bill Gates founded Microsoft on the basis of the development of MS/DC DOS, the initial
operating system for IBM PC. Digital Research have continued to develop their operating system DR
DOS, and it is considered by many people to be a better product then Microsoft's. However, without an
endorsement from IBM, it has become a minor in the market. Novell, the leaders in PC networking,
now own Digital Research, so things may change.

The original IBM PC had a minimum of 16K of memory, but it could be upgraded to 512K if
necessary, and ran with processor speed of 4.77Mhz. Ten years later, in 1991, IBM were making PCs
with 16Mb of memory, expandable to 64Mb, running with the processor speed of 33Mhz. The cost of
buying the hardware has come down considerably as the machines have become commodity items.
Large companies are considering running major applications on PCs, something which, ten years ago,
no one would have believed possible of a PC, in contrast, many computers in peoples homes are just
used to play computer games.

The widespread availability of computers has in all probability changed the world forever. The
microchip technology, which made the PC possible has put chip not only into computers, put also into
washing machines and cars. Some books may never be published in paper form, but may only be made
available as part of public databases. Networks of computers are already being used to make
information available on a world-wide scale.

. Copy out sentences, containing infinitive, translate and state the functions.
. Answer the questions to the text.
. How many mainframes did IBM think it was possible to sell in 19527
. How many PCs have now been sold?
. Who paid for the initial research into PCs?
. Which company later used the results of this research to develop their operating system.
. What are command-based operating systems?
6. DR/DOS is an acronym. What does it stand for?
7. Since the invention of the IBM PC, many of its features have been improved. Which of the
following features does the text not mention in this respect.
Read and translate the abstract. Get ready to retell it.
Abstract

The text is devoted to the history of PC development and research. The purpose of the text is to
give the reader some information about the companies which dealt with PC and operation system
development such as Digital Research, Apple Computers and so on.

The author starts by telling the readers that in 1980 IBM set up a special tem to develop the
first IBM PC. He writes that over the years 70 million PCs have been made since that time.

O B~ WOWODNEFEDNPRP



The author points out that Xerox Corporation funded the initial research on personal computers.
According to the text, the ideas they put together later went into the operating system developed for
Apple Computers.

Further the author writes that IBM turned to Bill Gates to write their operating system. The text
goes on to say that over the years PCs memory and speed were considerably upgraded and their cost
went down because they became commodity items.

The author comes to the conclusion that computers have changed and will change our world.

In my opinion, the text is up to date and informative, but a bit difficult to understand.

Annotation

The history of PC development is described in short. Data are given about upgrading since 1980.
Tema 5. CocnararensHoe HakJIOHeHUE. [IporpammupoBaHe KOMIBIOTEPA.
S3piku  mporpammupoBanus. OmpeneneHue TIaBHOW wuaen TeKCToB. OtpaboTka JIEKCHKH B
ynpaxneHusx. CocraBineHue pedepaTa W aHHOTAMU MO TMPOYUTAHHBIM CTaThsM. | pammaruka:
CocnararejibHOE HAKJIOHEHHE
Ha MMPAKTUYCCKUX 3aHATHUAX pa36HpaeTc;1 IrpaMMaTudCCKasa TEMa COCIaraTrCJIbHOC HAKJIIOHCHUC U
BBOJUTCA HOBaA JICKCHKa II0 IIPpOIrpaMMUPOBAHUsA KOMIIBIOTCPA H oOecreueHNH KOMHLIOTGpHOﬁ
OesomacHoctu. B I[aJ'ILHefIH.IeM JICKCUKAa U I'paMMaTHKa OTpa6aTBIBaIOTC}I B TCKCTAX W YIPAKHCHUAX
no yueOHuKy OpioBckoit U.B. (Lesson 12), yue6nuky Pamosens B.A (Unit 11) u yueOHOoMy mocoOuo
«AHHOTHpOBaHHEe M pedepupoBanue Tekcray. [locime m3ydeHUs TEKCTOB cOCTaBisieTcs pedepar u
AQHHOTAIIMS TI0 OJTHOMY M3 TEKCTOB WJIM 10 HecKoabkuM. [lapastensno uzydaercs tema “Washington”.

CocaararesibHoe HakJoHeHHe (The Subjunctive Mood)

CocnararenbHOe HaKJIOHEHUE IIOKAa3bIBaACT, 4YTO FOBOpHH_II/II\/'I paccMmaTrpuBacTt HeﬁCTBHe HE KakK
peaJ'ILHI:IfI (baKT, a4 KaK IpearojaraéMoce, KeJaTeJIibHOC NN HCPCAJIbHOC.

B PYCCKOM #A3BIKEC MUMECTCA TOJIBKO OJHAa (bOpMa COCJIaraTCJbHOI0 HaKJIOHCHUA — COYCTAaHUC
¢dopMBbI Tarojia MpoUIEAIIEro BpeMEHH ¢ YacTHiel Obl (caenan Obl, xored Obl U T.4.) OTa dopma
MOKET OTHOCUTLCA K HACTOALICMY, ITPOLICANICMY UJIU 6yz1yu1eMy BpPCEMCHHU.

B aHrmiickoM si3bIke UMEETCsI HECKOJIbKO (JOPM COCIaraTeIbHOro HaKJIOHEHHUSI.

HpI/I BBIPAXKCHUHN NPCAINIOIOKCHUSA, KCIAHUA WJIIM BO3MOXHOCTH B HACTOAIICM WA 6YIIYHI€M
BPEMEHM MpOCThie (OPMBI COClIaraTeJIbHOTO HAKJIOHEHMsI COBNAAa0T ¢ (popmol MHGUHUTHBA 0€3
yacTuIlbl to it Beex ymil u uucen (live, try) wium ¢ ¢opmoii Past Simple (finished, broke). I'maron to
be B oTOM CJIydac UMCCT (I)OpMBI be u were JJIs1 BCEX JIUIT K YUCEII.

Crnoxnas ¢opma cociaraTelbHOIO HAKJIOHEHHUS MpenacTaBiseT co0oil coueranue should
(would), could, might ¢ Simple Infinitive 6e3 yacTuisi to:

Long live the King! Jla 31paBcTBYeET KOpOJIb!

It is high time he were here. JlaBHO 1TOpa €My OBITH 3/1eCh.

They could take this exam. Onu MoTJIH OBI C/IaTh 3TOT K3aMEH.
I should come with pleasure. S1 GBI IpHIIIET C YIOBOJIbCTBUEM.

[Ipy mepemade AEWCTBUS HEPEATbHOrO, OTHOCSIIETOCS K MPOILIOMY, mpoctas ¢opma
cocliaraTtejbHOrO HakKJIOHEHUs coBmamaer ¢ ¢opmoit Past Perfect (had + V3), a crmoxknas ¢opma
npeacTaBisier coboi coueranue rimarosioB should, would, could, u might ¢ Perfect Infinitive 6e3
4acTUIIGI tO:

They had taken the text-books, but the Ownu B3sm Ob1 yueOHHMKH, HO OMOIHMOTEKA ObLIA TOTIA
library was closed then. 3aKphbITa.
We should have come. MgI OBbI IPHIILTH.



yHOTpeﬁﬂeHHe PAa3IHYHBIX (l)OpM CoCJaraTeJbHOro HAKJIOHCHHUA

I should like to get this book. MHe ObI XOTEJI0Ch MOJTYYUTh ITY KHHUTY.

He would like to join us. OH OBI XOTEJ K HaM MPUCOCTUHHUTHCS.

He could do it tomorrow. OH Mor ObI c1eNIaTh 3TO 3aBTpa.

They would have helped you, but they Ownu G mOMOTrIM BaM, HO HE CMOTIJIH IIPHUJITH.
couldn't come. Tr1 Mor ObI 3TO caenath. [louemy Thl He TOTBITATICS?
You could have done it. Why didn't you

try?

@®opMBI cocaraTeaIbHOr0 HaKJIIOHEHHS! YIOTPEOIAI0TCSA:

1) B MPOCTHIX NPEIIOKECHUAX

MHe OblI XOTENIOCh I0CTAaTh 3TY KHUTY.

OHn xoTen Obl IPUCOEAUHUTHCS K HaM.

OH cmor ObI crienath 3To 3aBTpa. OHM OB TOMOTIIM BaM, HO HE CMOTJIA IIPUNTH.
Bb1 Moruniu 66l 3TO cienaTh, MOYEMY K€ BbI HE MOMBITATHCH?

2) B CJIOKHOIIOIYMHEHHBIX TPEIOKEHHSIX
a) B PHIATOYHBIX MIPEIIOKEHUIX TTOCIIE OE3IMYHBIX 000POTOB THIIA:

Itis necessary Heo6xoauMo, 4TOOHL. ..
ordered Heo6xoauMo, 4TOOHL. ..
important that BaxHo, 4TOOB!...
essential CyIleCTBEeHHO, YTOOBI. .
desirable JKenarenbHo, 4TOOHI...
possible Bo3MoikHo, uToO...
improbable MaJioBeposITHO, UTO...
suggested [Mpeamnonaraercs, 4To...
proposed [Mpenmonaraercsi, YTOOBL. ..
required Tpebyercs, 4TOOBL. ..
demanded Tpebyercs, 4TOOBL. ..

B aTOM ciydae cioxHas popMa cocliaraTeIbHOTO HaKJIOHEH s 0Opasyercs ¢ momoinkio should
TSI BCEX JIMIT:
It is desirable that he should be present here. XenatensHo, 4TOOBI OH IPUCYTCTBOBA 3/1€Ch.

b) B JIOTIOJHHUTENBHBIX TPHIATOYHBIX TPEAJIOKEHHUIX IIOche TiarosoB to suggest —
npejnonarath, t0 propose — mnpeyiarath, to desire — sxenathb, to require, to demand — tpeGoBarts, t0
order — npuka3bIiBaTh, t0 INSISt — HacTauBaTh U T. 1.

The engineer demanded that the test be Wmwxkenep moTpeOOBai, YTOOBI WCIBITaHHE
(should be) repeated. MOBTOPHIIH.

C) B JIONIOJTHUTEIBHBIX MPUAATOYHBIX MPEIIOKECHUAX MOCe riiarona Wish:



I wish he were with us. MHe *aJib, 4TO €ro ¢ HAaMH HET.

I wish you had brought your camera. MHe *aJib, YTO Thl HE IPUHEC CBOIO Kamepy.
S 661 XOTEN, 9TOOBI OH HAM BCE paccKasal.

I wish he would tell us everything. MHe OBl XOTENOCh, YTOOBI OH TPHUIIEI Ha
Beuep.

I wish he could come to the party. Mue Obl XOTeJIOCh, 4YTOOBI BBl OoJjice

THIATCJIBHO CACJIaJIU 3TO.
I wish you had done it more carefully.

d) B NPHUIATOYHBIX IMPEUIOKEHUSAX IeIU mocie coro3oB SO that, in order that — raxk,
4yT00BbI; lest — utoOs! He. B aToMm caydae should yrorpe6iisieTcst st Beex JIMit:
Send him out of the room so that he should Oroumid €ro W3 KOMHAThl, 4YTOOBI OH HE
not hear what we talk about. CJIBIIIAI, O YEM MbI Pa3rOBAPHBACM.
She put the letter away lest her husband Ona yOpana mucbMoO, 4TOOBI €ro HE YBHUJEIN
should see it. MYK.

e) B IPUIATOYHBIX CpaBHEHHUs ¢ coro3amu as if / as though — kak 6ynro, cioBHO:
The house is so quite as if there were nobody B mome ObLIO Tak THXO, Kak OyaTo B HEM

init. HUKOTO HET.
f) B OIPEJICTUTENBHBIX MPUAATOYHBIX MPeIIoKeHHsX mocie ‘it is time’, ‘it is high time’ —

mopa, camoe Bpemsi. B aTom ciyuae ucrons3yercs uis riarona to be (were) u Past Simple ocranbHbIx

TJIarOJIOB.

It’s time we went home. Ham nopa uaru 1omoit.

It’s high time you were in bed. Bam naBHO nopa cnaTs.

)] B 00€uX YacTsIX CIIOKHOIOAYMHEHHOTO MPENJIOKEHUsI C YCIOBHBIMU IMPHUAATOYHBIMU

BTOPOTO U TPETHETO THUIIOB:

If | were not so tired, I should go with you. Ecnu 651 s Tak He ycTa, st Obl MOIIEI C BaMH.

If they had a car, they would go to the Ecmu Obl y HHX ObLT aBTOMOOWIIb, OHH OBl
country. MMOEXAJIH 32 TOPOJ.

If he hadn't phoned her, she wouldn't have Ecmu Obl OH He TMO3BOHHMI €W, OHa OBl HE
come. NpUIILIA.

Grammar exercises:

1. Translate the sentences:
1. He had never suggested that | should visit them.

Laura insisted that we should put the party off.
Con insisted that | be also present.
It was important that no sound should give warning of their approach.
It's absolutely essential that you shouldn't breathe a word.
It seemed necessary that his friends should be kept away from interfering with his work.
After lunch it was proposed that they should all go to the lake.
It was possible that her only feeling was one of hurt pride.
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9. It was agreed that he should be the first to speak.

10. It's only natural that a mother should not wish to be parted from her children.
11. It was improbable that Bart should buy pictures.

12. It is advisable that she should have someone to look after her.

2. Translate the sentences into Russian:

1. When the plane touched down he began to look around lest he should miss her in the crowd.
2. She was overcome with fear lest | should let her down.

3. He feared lest his landlord should betray him to the Germans.

4. | had a feeling of terror lest he never should be able to play in public again.

5. They had made a date for the following Friday night and he feared lest she should not come.
6. It was agreed that he should start on his new job on Monday.

7. | wish you had a serious talk with Paula.

8. It's important that | myself should speak with your captain.

0. | feared lest [ shouldn’t get back in time.

10. I wish | never met you.

11. Tom insisted that we should stop playing and go home.

12. It's about time we heard from him.

13. It's important that children should be taught to know the right things from the very beginning.
14. | wish you thought of something else.

15. It's high time Bill were back home.

16. | wish you were serious.

17. | wish you stopped laughing.

18.  Of course it was quite possible that Mrs. Lee should be badly ill.

19. I wish you hadn’t caught that dreadful cold.

20. It's necessary that you should find a specialist who could deal with it.

21. The officer ordered that the bridge be destroyed at dawn.

22.They demanded that the doctor would tell them what was the matter.
Washington

Washington, the capital of the United States, was founded in 1791 in the district of Columbia. It
was Washington who chose the place for the District.

Washington is not the largest city in the United States, it is not as large as New York Chicago,
Los Angeles. It has a population of 900,000 people.

Washington is like no other city of the USA. You know that the flag of the USA, the "stars and
stripes” has 50 stars on a blue background. Each of these stars represents one of the fifty states. But the
city of Washington is not in any of those states. It belongs to all of them.

Washington is the seat of government of the nation. New York is a centre of finance, of shipping;
New Orleans deals in cotton. Washington's only industry is government. It does not produce anything
except very much scrap paper. Every day twenty-five railway cars leave Washington loaded with scrap
paper. There is a law in Washington against building structures higher than the Capitol; therefore, it
presents a different appearance from New York with its sky-scrapes.

Washington has many historical places. The White House, where the US President lives and
works, the Capitol, the home of the US Congress and the Supreme Court are all in Washington. The
Capitol is very high and beautiful, with white marble columns. It is the very centre of the city. Not far
from the Capitol is the Library of Congress. It holds five million books.



Today Washington is the city, which attracts a lot of tourists by its fashionable hotels, restaurants
and sightseeing attractions as the house of the first president George Washington, the Lincoln
Memorial, the Tomb of the Unknown Soldier, the White House and others.

The White House, the residence of the president, is the oldest public structure in the capital and
one of the most beautiful. All American presidents except George Washington had lived in the White
House.

Vocabulary

to deal in — Toprosats

scrap paper — 6ymakHasi MaKynarypa

to load — 3arpy»xatb

railway cars — BaroHsI

building structures — 3nanwust

the Capitol — 3manue Konrpecca

the Supreme Court — Bepxosubiit Cyn
sky-scrapers — HeOOCKpEObI

marble — mpamopHBIit

tomb — moruna, cknen

shipping — rpy3omepeBo3ka, CyJ0X0CTBO

belong to — npunaIeKaTH

law - 3akon

Speak about the capital of the United States.

Who chose the place for the District of Columbia?
What is the only industry in Washington?

Which American state does Washington belong to?
What is the special law in Washington?

What historical places does Washington have?
Why does Washington attract many tourists today?
How many stars and stripes are there on the US flag?
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Tema 6. IToBTOpeHHE HEMUYHBIX (QOPM TJAroyia, CTpajgaTeldbHbBIN 3amor. Ys3BuUMocTh [10.

[Tpuspak kKuOGepBOMHEI.
bezonacHocts: yectHas urpa. Ysssumocts 110. [puspak kubepBoiinbl. OnpeneneHue riaaBHON Uaen
TekcToB. OTpaboTka sekcuku B ymnpaxHeHusx. CocraBineHue pedepara W aHHOTAMU IO
MPOYUTAHHBIM CTaThsIM. | paMMaTHKa: TOBTOPEHHE CIIOKHBIX KOHCTPYKIMH U CTpaiaTeIbHOTO 3aJ10ra
OcHoBHOM AKICHT IIpU MPOBECACHHUU IMPAKTUYCCKOI'0 3aHATHA ACIACTCA Ha IMOUCK paHCC M3YUYCHHBIX
rpaMMaTHYeCKUX SIBJIEHUM B paccMmaTpuBaeMbIXx TekcTax. OOpamiaercss oco0oe BHHMaHUE Ha HX
nepeBoJ Ha pycckuil s3bIk. [lapamnensHo uuer pabota Haj yekcukoi mo teme Murepner. Pabora
BEJIETCS TPEUMYIECTBEHHO MO0 Yy4eOHOMY MOCOOWI0 «AHHOTHPOBAaHWE M PePEpPUPOBAHHUE TEKCTay.
[Tpu BBIMOJIHEHUH YIIPaKHEHH MO0 TpaMMaTuKe npuBiekaercs yueOHuk Oprosckas U.B.
Ex 1. Ilepeseoume na pycckuii A3vIK ciedyiouiue RnPeonoHceHus, cooeprycaujue cyoveKmHulil
UHUHUMUGHBLIL 000pOmM:
1. Thisregion is expected to have extremely rich deposits of copper ore.
2. The special commission of the Russian Academy of Sciences is expected to conduct large-scale

excavations works.
3. The delegation is reported to have visited some natural museums.
4. 1t seems that the deposits of minerals in this region are inexhaustible.



Copper wire is estimated to have a great tensile strength.

The new system of automatic control is likely to be used in the near future.

Industrial electronics is said to be a comparative newcomer to industrial plants.

Vacuum tubes appear to perform such functions as: rectification, amplification, detection,

modulation and others.

9. The future is expected to bring a great many of new applications for semiconductors.

10. The average user of electrical devices is not likely to know anything about them because they are
usually small, almost hidden, and seldom require servicing.

11. Isotopes are found to behave alike in all chemical reactions but to differ in mass.

EX 2. Ilepeseoume na pycckuit a3vlk npeoyiodceHus, cooepicaujue 2epyHouil:

1. Making this experiment took him much time and energy.

2. Perfecting some instruments the scientists learn more about sun's atmosphere.

3. Constructing simple radio-sets was followed by more complex devices.

4. Before installing the new equipment the engineers were to test its performance.

5
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. After having changed the design of the transmitter it can be employed in the aircraft.
Different methods of conveying signals were examined for this particular application.
The ionosphere property of bending radio waves and returning them to the ground was referred to
in that text-book.
8. Scientists turned their attention to studying electrons instead of using ultraviolet light.
9. The idea of using machines for purposes of teaching is of great importance.
10. Because of its being applied in different branches of modern industry electronics is growing in
importance from day to day.
11. Only by investigating the ultraviolet rays we shall be able to increase our knowledge of the stars.
Ex 3. Ilepeseoume na pycckuii a3plK ciedyroujue npeodiorHceHus, cooepiricaujue cmpaoameibHblil
3ajioe:
1. Our country's successes in the construction of hydropower stations have been universally
recognized.
The weight of the atom is almost entirely concentrated at its centre in the nucleus.
If a piece of material is struck by rays of light, electrons will leave the material.
The future of astronautics will be a logical continuation of what has already been achieved.
Two methods of reproducing sound have already been achieved.
Nearly all properties of matter are affected in some degree by temperature changes.
Automation is being introduced in building work.
The new block of flats was being built at the time of our holidays.
We were informed that many scientists were working at the problem of radioactivity.
. Elimination of the housing shortage which is being realized at present is a problem of great
importance.
11. More and more is being learned about outer space and conditions for life there.
12. Numerous new instruments are being used in many branches of science and technology.
Ex 4. Ilepesedume na pycckuii a3plk npeodnoxcenus, cooepricauiue mooaibHsle 2na2oubl:
1. A model of the proposed chamber may be made of the transparent plastics so that flow through the
chamber can be observed or photographed.
Surging must be avoided when the aircraft is put into a dive.
An axial compressor cannot be run at too high speed.
We may say that a gas turbine engine comprises three main sections.
Changes in the shape of the chamber can really be made.
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6. Blade vibration may become dangerous.

7. The thrust can be varied by the pilot.

8. Conditions must be studied to find the best fuel.

9. The method described above also enables us to obtain a better value for a friction constant.
10.The rocket is able to travel in a vacuum even better than it can through the air.

11.The speed has to be reduced.

12.The spaceship has to overcome the gravity.

[TpumepHBIii I1aH pabOTHI:

e Omnpenenure OCHOBHBIE BOIIPOCHI, PACCMaTPUBAEMbIE B TEKCTE.

e OtMmeTbTe a03allbl, B KOTOPBIX COJEPIKUTCS Harboliee CynieCTBeHHAs HHPOpMAIHsI TEKCTa.
e Haiinure kio4yeBbIe CI0BA, IEpEJarOIINe OCHOBHYIO MBICITH ab3arlia.

e Haiinure npenioxeHus, nepenaroiye Handoiee 3Ha4MMyI0 HH(POPMALIHIO TEKCTA.

e Haiinure npeqioxkeHus B KaX10M a03alle, 3a CUeT KOTOPBIX MOKHO 3TOT a03al] COKPATUTb.
o CdhopmynupyiiTe TIaBHYIO MBICITH KaXI0T0 ab3ara.

e (CocTaBbTe IJIaH MOJHOTO U3JIOKEHUS TEKCTA.

¢ (CocTaBbTe KpaTKyl0 aHHOTALIMIO U pedepaT K TEKCTY.

Water-cooled IBM supercomputer to heat buildings

by Manek Dubash of ZDNet UK, June 24, 2009

IBM and the Swiss Federal Institute of Technology at Zurich plan to build a water-cooled
supercomputer whose surplus heat will be reused to heat the university's buildings.

The Aquasar supercomputer will be located at the ETH Zurich facility, and it will start
operations next year, the partners said in an announcement on Tuesday.

Water flows along copper pipes in a blade server used in the Aquasar supercomputer.

The supercomputer will combine two rack-mounted IBM BladeCenter servers, each containing
multiple blades with a mixed population of IBM PowerXCell 8i and Intel Nehalem processors. It is
expected to deliver a peak performance of about 10 teraflops.

The installation will reuse heat directly for in-building heating. IBM estimates that the water-
cooling scheme will reduce the system's carbon footprint by up to 85 percent and save up to 30 tons of
carbon dioxide annually, compared with standard cooling approaches. The comparison calculations are
based on average yearly operation of the system and on in-building heating energy being produced by
fossil fuels, the company said.

The energy-consuming refrigeration units used by almost every data center consume about half
of the data center's energy. Aquasar will need no such equipment. As a result, it should reduce overall
energy consumption by 40 percent, according to IBM.

"Energy is arguably the number-one challenge humanity will be facing in the 21st century. We
cannot afford anymore to design computer systems based on the criterion of computational speed and
performance alone," Professor Poulikakos of ETH Zurich, the leader of the Aquasar project, said in a
statement. "The new target must be high-performance and low-net power consumption supercomputers
and data centers. This means liquid cooling.”

The system is the product of an extended joint research project between ETH and IBM
scientists, focused on chip-level water-cooling. It also encompasses a concept for "water-cooled data
centers with direct energy re-use" proposed by scientists at IBM's Zurich Lab.


http://news.zdnet.co.uk/

Aquasar's use of warm water rather than cold water for cooling is unique and IBM-patented, a
spokesman for the company said. Water, which is about 4,000 times more efficient as a coolant than
air, will enter the system at 60 degrees C. This will keep the chips in the system at operating
temperatures below their maximum of 85 degrees C, according to IBM.

The high input temperature of the coolant results in an even higher-grade heat as an output,
which in this case will be about 65 degrees C, the company said.

The system uses jet impingement cooling, which means that water makes direct contact with
the back of the chip via micro-channels in the heat sink, according to research papers by the IBM and
ETH scientists involved in the Aquasar project. "This method incurs neither the thermal resistance
overhead of a base plate, nor the overhead and reliability problem of thermal interface materials, and
thus is promising for removing highest-power densities," according to one paper.

Pipelines from the individual blades link to the server rack's water-pipe network, which in turn
is connected to the main water transportation network. Aquasar will need about 10 liters of water for
cooling, pumped at some 30 liters per minute, IBM said. The cooling system is a closed circuit: the
water is heated by the chips and cooled to the required temperature as it passes through a passive heat
exchanger, delivering the removed heat directly to the heating system of the university.

Aquasar will be used by the computer science department at ETH Zurich for multiscale flow
simulations related to nanotechnology and fluid dynamics. Researchers plan to show that solving
scientific problems efficiently can be performed in an energy-efficient manner.

Vocabulary

ETH — The Swiss Federal Institute of Technology in Zurich

Surplus heat — u30bITOUHOE TETO, pe3ePB TEIIOBON MOITHOCTH

Blade server — stueeunsiii cepBep

Multiple — cocTaBHO#, MHOTOYHCIIEHHBIH

Teraflops — TpusHoH onepanuii ¢ raBarIIeil TOYKOI B CEKyHIY

Humanity — genoBeuecTBo

Encompass — BBINOJHSATE, OCYLLIECTBIATh

Jet impingement cooling — oxnaxxaeHue ynapHou crpyei
Heat sink — TerutootBo

To incur — mogBepraTbhes 4eMy-JInuoo

Overhead — HenpoU3BOAUTEIIBHBIC 3aTPATHI

Rack — croiika, mratus

Heat exchanger — reriooOMeHHUK

Fluid dynamics — rugporazoanHamuka

Multiscale — MHOTOITKATBHBIH

I. Translate the following phrase in written form and give your comment.

1. It is expected to deliver a peak performance of about 10 teraflops.

2. Researchers plan to show that solving scientific problems efficiently can be performed in an
energy-efficient manner.

I1. Answer the questions to the text.

1. Where will the Aquasar supercomputer be located and when will it start work?

2. What will the supercomputer combine?

3. What will be the advantages of the water-cooling scheme?

4. What is the main challenge for humanity in the 21% century? What is the new target?

5. What companies are involved in the project?


http://www.zurich.ibm.com/st/cooling/interfaces.html

6. What is the maximum operating temperature of the chips in the system?
7. How much water will Aquasar need?
8. Do you know any other examples of solving scientific problems in an energy-efficient
manner?
I11. Find and translate in written form the sentences where there is the information about the
principle of the system work.
IV. Extract the key sentences of the text.
V. Read the article and express the key ideas in 2-3 sentences.
VI. Find in the text Passive voice, Infinitive constructions, Gerund and Participle.
VI11. Make up the abstract and reduce it to the annotation.



